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ABSTRACT:

by the failure of the anchor.

Damage evidence of port structures under past earthquakes indicated that
seismic stability was closely associated with liquefaction potential of the backfill. In
this paper, the stability of existing anchored bulkheads under two types of backfill soil
condition: the one with partialy liquefiable soil, and the one without liquefaction
potential, have been studied under peak ground acceleration of 0.1g of earthquake
excitation. Parameters such as the embedded Iength, the maximum bending moments
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been estimated. The results indicated that the structure is able to withstand the design
earthquake without liquefiable backfill. However, if liquefaction of the backfill is an
issue, seismic capacity of the structure, particularly the anchor, is insufficient. This
result indicated that most of the damage of the steel sheet pile quay walls was caused
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0.592*12.117 103.545*4.561+15.971*4.68

554.184 t-m
A Rwm

RwMm = 0.5%1,*h* h* (h/3+ hy)+0.51,* h* hy* hy,
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= 73.998 t-m
A Dwm
Dwm = 7/12%Kkpy* 1y, *hy?* (2/5% h,)
= 7/12*0.1* 1* 10.5* 10.5* (2/5* 10.5)
=27.011 t-m

Pam+ Rwm+ Dwm

_ —56973 t
Ap= 115

Ap* =56.973*1.6

=91.157t 0.6*fy* =0.6* 3000* 44.18=63615kg
=63.615t N.G.

91.157— 63,615
— 30.2%
91.157 ° 30.2

Excel 8.1
Mmax=231.906 - 0.6*fy* z=0.6* 3000* (2* 3150)
=1134 - N.G.

231.9-1134
231.9

=51.1% 51.1

3)

4-2-4

FC
3

kw=0.15N=0.45 B 100 E=2100000 1=16400
B=0.004251
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M, =03220977100 _ ja5e00 —43.15  t-m
0.004251

0.6*fy*Z=0.6*3000*1310=23.58 t-m 43.15t-m (N.G.)

43.15-23.58
Tws o 454

Lm=n/P 421 8.5

T
Ly = F =7.39m < 8.5m (O.K.)

(4) D

4.2.2 15.5

4.3

4.2 4.3.1
F.S.=1.2

F.S=1.2
1.7
7.2
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30.2

51.1 45.4
4.3.1
FS=12 | FS=10 | FS=1.2 | FES=1.0
N.G. O.K. N.G. N.G.
OK. N.G.
O.K. N.G.
O.K. N.G.
O.K. O.K.
N.G. N.G.
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5.1

0.1g
5.1.1
FS=1.2
5.11
FS=1.2 | FS=10 | FS=1.2 | FS=10
N.G. O.K. N.G. N.G.

O.K. N.G.
O.K. N.G.
O.K. N.G.
OK. O.K.
N.G. N.G.




51.1

5.2

45.4%

921

30.2%



[1]

[2]
[3]

[4]

[5]

[6]

[7]

[8]

86

4A

921

90

6-1

89

! 85 10
91 5
76 11
11
172 ! 1
" 88 10
55 56 57
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